Homework #3, due Fri, 1/31 Name:

New Flowchart Details

In these analyses we'll be on the lookout for the plagal and deceptive progressions as well as the cadential §. All
of these are discussed in our textbook chapter 2.

Symphony No. 41 in C major, K. 551 “Jupiter”, fourth movement

Here there is only one harmony per measure except for the end. In the beginning you should consider the low
notes in the violin II part as the bass line. It includes an inverted ii’ which is fairly exotic for us. Finally, I've
circled a few notes in the melody that you should pick around.
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A quick phrase from Mozart’s Rondo alla turca, mm. 85-88

As usual I've circled the notes you should pick around, and I put blanks at the bottom to make the pacing
of the harmonies clear. This one features lots of inverted chords, including an inverted vii®” which will
probably be tricky.
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